
Let's Revise

Revision part 1
1 Write the following numbers as shown.

 a 6 400; 6 040; 6 004; 4 006 (ascending order) _______________________

 b 9 231; 9 213; 9 312; 9 321 (descending order) _______________________

 2 Calculate.

 a 162 + 223 = _____ b 786 + 90 = _____ c 329 – 128 = _____ 

 d 3 668 – 3 568 e 56 – 56 = _____ f 80 × 15 = _____

 g 362 ÷ 1 = _____ h 665 × 1 = _____ i 526 ÷ 0 = _____

 j 240 ÷ 6 = _____ k 256 ÷ 256 = _____ l 231 × 0 = _____ 

 m 965 – 0 = _____ n 444 + 0 = _____ o 4 876 + 300 = _____

 3 What fraction will you get if you share:

 a R27 among 3 children? _______ b  24 muffins among 8 girls? _________

 4 Write down the fraction that is shaded in each diagram below.

 a                b    c                 d

 _____      _____      _____       _____

 5 Match the equivalent fraction below to each fraction in question 4.

 a   3 __ 
4
   = ___ b    1 __ 

3
   = ___ c    4 __ 

8
   = ___ d    1 __ 

2
   = ___

 6 Look at the shapes below.

  a Name each shape. b   Draw the lines of symmetry.

  A B C

   _______________    _______________    _______________

 c Describe the lines of symmetry of shape B. ____________________________
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Revision part 2
1 Complete.

 a   1 __ 
2
   of 16 = ___      b    1 __ 

8
   of 24 = ___       c    1 __ 

4
   of 40 = ___      d    1 __ 

5
   of 20 = ___

 2 Mom has to put 32 cookies into 8 packets.

 a What fraction must she divide the cookies into? ________

 b How many cookies must she put in each packet? ________

 c She sells each packet for R5. How much money does she make? ________  

 3 Add.

 a   1 __ 
8
   +   2 __ 

8
   = _____ b   1 __ 

4
   +   2 __ 

4
   = _____ c   2 __ 

5
   +   2 __ 

5
   = _____

 4 Complete the following sentences.

 a A __________ is 10 times shorter than a centimetre.

 b A __________ is 1 000 times longer than a metre.

 c There are 100 ___ in one metre.

 5 Complete the loop card game by matching the “I am” questions to the “You 

are” answers.

I am 740 cm

You are 285 mm

I am 1 600 m

You are 7,4 m

I am 74 mm

You are 7,4 cm

I am 28,5 cm

You are1,6 km

 6 Complete the number sequences. 

 a 2 976; 2 974; _____; _____; _____; 2 966   Rule: _________

 b 1 812; _____; _____; 1 821; 1 824; _____   Rule: _________

 c 9 950; _____; 9 850; _____;9 750; _____   Rule: _________
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